Az EG7 Y v 7RI )

\ A=VZ=3=1
bd'u*w <13+
Ay
N
\% -F£V%‘j
l 14
I 1

T 550-8691  KPRITvEXATFEHH 3-3-3

T 105-0014  HEEHECE 3-5-8

TEL06-6541-1279 FAX06-6541-8486
TEL03-3451-7405 FAX03-3798-0006

T 669-1504 Sl = FH i/ NEPFSE H L 1298-3 TELO795-66-0136  FAX0795-66-0130

(B4 : mm)
Cldi | a b c e 11 | 12| 13 | 14 | 15 | 16 | 17 de
B |(hil)
EG- 3 41 41 11 8 8 [18.5] 21 | 4.5{ 15 8 6 | 16 {M3X0.5
EG- 4 41 4| 11 8 8 [18.5] 21 | 4.5] 15 81 6| 16 (M4X0.7
EG- 5 5 5 (13.5} 10 9| 231261 5.5019]| 10| 7.5 20 |M5X0.8
EG- 6 6 6116 | 12|10 | 28 | 31 | 6.5] 23 | 12 9 | 24 |M6X1.0
EG- 8 8| 8121.5] 16 | 14 | 37 | 42 8 13016 | 12 | 32 M8§}.35
EG-10 [ 10 | 10| 26 | 20| 18 | 45 | 52| 10 | 38 | 20 | 15 | 40 [M10X1.25
EG-12 [ 12112131 124120 53 |62 12|45 | 24| 18 | 48 |M12X1.25
X1.5
EG-14 | 14:f{ 14 | 34 {27 [ 24 | 62 | 72 | 14 52 | 28 [22.5| 56 |M14X1.5
1 EG-16 | 16 | 16 {39 | 32126 | 73 | 83| 16 | 62| 32 | 24 | 64 |MI6X1.5
WU, EERLAC DOV T HEBTEETT. BEVWEDETEW,
MU LUE LT, m&J&UFK/%(dZ)J%*ﬁTTé“
#:EG8-M8X1. 0
Wt - SHESE %5&(""%‘5‘6 EMTENET,
HAA L E RBERSH kW B - =H




